1. Попуни табелу:

	Умањеник
	8
	7
	9
	10
	
	
	6
	

	Умањилац
	4
	3
	
	
	4
	7
	
	3

	Разлика
	
	
	3
	2
	2
	1
	3
	2


2. Умањеник je 4, a  умањилац 2.Колика је разлика?

R: __________________

O : ___________________________________________________

3. Умањеник je 7, a разлика 2. Одреди умањилац.
R: __________________

O:  ____________________________________________________

4. Умањилац je 2, a разлика 7. Одреди умањеник. 

R: ____________________

O: ____________________________________________________

5. Израчунај:


7 –        = 3

        – 3 = 6

  10 – 3 = 


9 –        =  5

        – 1 = 3

   6 – 4 =  
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